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PHILOSOPHY — HONOURS
Paper : DSE-A-2.1, DSE-A-2.2 ang DSE-A-2.3

Candidates are required to give their answers in their own words
as far as practicable.

DSE-A-2.1
(Western Logic-1II)
Full Marks : 65
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[English Version]
The figures in the margin indicate full marks.

1. Choose the correct option (any fen) : 1%10

(a) “We seldom predicate about the words.”— This statement is

(1) True (i) False
(i) Undetermined (iv) None of these.
(b) The term ‘loudly’ is
(i) Categorematic word (i) Syncategorematic word
(ili) Mixed term (iv) None of these.
(¢) “Definitions are not of things, but of names.”— Who says this?
(i) Aristotle (i) J.S.Mill
(i) Porphyry (iv) Joseph.
(d) ‘Man is a rational being who is 6 ft. tall.”— The fallacy which this definition commits is
(i) too wide fallacy (i) too narrow fallacy
(iii) fallacy of inessential (iv) redundant definition.
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(¢) Who admits species as a predicable?

(i) Porphyry (i) Aristotle
(i) Both of them (iv) None of them,
(D Any attribute which may or may not belong to the subject 1s called
(i) Property (i) Genus
(iil) Differentia (iv) Accident.
(2) ‘Peace is the absence of war,— this is
(i) Metaphorical Definition 7 (i) Negative Definition
(i) Ambiguous Definition (iv) Obscure Definition.

(h) ‘A politician is a member of the Parliament.’— What fallacy does this definition commit?
(1) Too-wide (i) Too-narrow
(i) Circularity (iv) Inessential.
(1) How many rules of definition, according to J oseph, are there?
(i) three (i) four
(i) six (1v) seven.
() We can only define that what is universal or concept. This statement is
(1) Ture (i1) False
(i) Undetermined (iv) None of these.
(k) Which of the [ollowing option is not true?
(1) A division must be exhaustive.
(i) There must be a single principle of division,
(i) The division should be done into its proximate members of species.
(iv) The dividing members must be mutually exclusive.
(I) Division by Dichotomy is
(i) Formal method (i) Not a formal method

(ili) Both of these (iv) None of these.

2. Answer any five questions :
(a) Distinguish between negative and privative terms with examples.
(b) Explain the meanings of terms of thought and terms verbal.
(c) Determine the logical characteristics of the following terms : Unmarried, Library.
(d) What is a predicable?

(e) What are general and descriptive terms? Give examples.
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(f) What is meant by ‘Infima Species’ and ‘Summum Genus’?
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(¢) Distinguish between the definition of a term and definition of a thing with examples.

(h) What is division by dichotomy? Give an example.

Answer any two questions :

(a) (i) What is meant by ‘too narrow’, ‘too wide’ and circular definition? Explain with exaniples.

(i) Evaluate the following definition— A triangle is a three sided rectilinear figure having

three equal sides. 7 (3x3)+6
(b) Explain with examples the classification of predicables following Aristotle. Why is this classification
by Aristotle called ‘exhaustive’? 10+5

(¢) (i) What is definition? What is division? What is the relation between them?
(ii) Explain with suitable examples the rules of logical division. (3+3+2)+7
(d) (i) Evaluate the following definitions :
(1) The Sun is a star that is visible by day.
(2) An acute angled triangle is one that contains neither a right angle nor an obtuse angle.
(ii) Evaluate the following divisions :
(1) Division of men into white, honest and intelligent.
(2) Division of numbers into even, odd and fraction.

(3) Division of triangles into equilateral and isosceles. (3+3)H3+3+3)
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